12”0351 (K12n0351)

Linearized knot diagam
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Solving Sequence

. . 49 > 1 -> — — — — — > — C1,Cgq, C
A knot dlagranﬂ 9 e 0 o 1005 6 o 8 o 32 2012120111107 7 —> C1,C6, C10

Ideals for irreducible component#ﬂ)f Xpar
I = (—8.11138 x 10*"u3? + 5.57581 x 10%%4*! + ... +2.13390 x 10°°b 4 2.41977 x 10°,
—2.54097 x 10° 032 + 4.05282 x 10°%31 4 .- +3.69165 x 10°%2a + 5.61038 x 103,

u? —u?? 4+ —106u + 173)
I = (=3u'" +4u® + . £ 50+ 14, =190 + 20 + - 450+ 57, u® —9ulC + ... —2u+1)

* 2 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (—8.11 x 10*74?? 4 5.58 X 10%6u3! 4 ... 4 2.13 x 10°°b + 2.42 X
10%9, —2.54 x 101432 + 4.05 x 10°%u3! + ... 4+ 3.69 X 10°%2a + 5.61 X
1053, w33 — 432 + ... — 106u + 173)

(i) Arc colorings

- ()
)

0.0688301u*? — 0.0109783u! + - - - — 9.38616u — 15.1975 )

ag =

a1 =

0.00380120u3% — 0.000261296u3! + - - - — 0.303063u — 1.13396

)

0.0543141u3? — 0.00150099u3! + - - - — 4.29999u — 10.4669
0.0221013u3? — 0.00297101u3* + - - - — 2.07083u — 4.65333

0.0489761u? — 0.00899494u3! + - - - — 8.55348u — 10‘6501>

ag = (o 0256145u? — 0.00501638u>! + - - - — 3.35159u — 6.23090

a5 =

ag =

5)2
)

0. O537482u32 0.00848860u3! + - - - — 7.70974u — 11.3277
0.0361202u32 — 0.00667465u3* + - - - — 4.42265u — 7.79409

0.112795u32 — 0.0212720u3! + - - - — 14.8584u — 24.0719
0.0284035u32 — 0.00624395u3 + - - - — 4.33982u — 6.95902

0.0229993u32 + 0.000676223u3! + - - - — 2.29755u — 4.63975
a11 = \ —0.00921351u32 — 0.000793791u3 + - - - — 0.0683872u + 1.17380

( —0.0659945u32 4 0.0142976u3! + - - - + 11.0084w + 15.2187 )
a7 =

az =

ag =

—0.00761661u32 — 0.0000982334u>! + - - - 4 2.05310u + 2.41838

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.280111u?? 4 0.0673788u>! + - - - + 28.5160u + 51.9527



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u? #3103 4+ - — 108u — 1

C2,Cg P =3P+ 4100+ 1

C3,C4,Cs uP w324 — 106w+ 173

Cs w3 4+ u? 4 - 4+ 72271u + 18731

7, ¢10 w2 + o+ 698w + 391
Co u —5ud? o+ 28u — 11
ci1 u® + 550 + .. — 781200u — 152881
c12 u —u? . — 428u + 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 Y33 — 45?4 — 3432y — 1

C2,Cq Y3 43132 + ... — 108y — 1

€3, C4, Cg Y33 — 4332 + .- + 292880y — 29929

Cs y>3 + 77y%2 + - — 6878739425y — 350850361

cr, 10 Y33 4+ 55y3% + ... — 781200y — 152881
Co Y3 =Ty 4 = TT8y — 121
c11 y?3 — 149532 4 ... — 105634649180y — 23372600161
C12 Y33 4+ 57y3% + ... — 214378y — 34969




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.881268 + 0.4942741
= 1.028140 — 0.1038561
= 0.744044 — 0.8224261

—7.71312 — 1.785371

—0.85266 + 4.657531

0.881268 — 0.4942741
1.028140 + 0.103856.1
0.744044 + 0.8224261

—7.71312 + 1.785371

—0.85266 — 4.657531

0.806093 + 0.7337621
—0.048706 + 0.8523501
—0.516099 + 0.6750371

—0.34629 + 2.425891

—3.38432 — 3.333981

0.806093 — 0.7337621
—0.048706 — 0.8523501
—0.516099 — 0.6750371

—0.34629 — 2.425891

—3.38432 + 3.333981

—0.798281 + 0.3112661
—0.571033 — 0.8368491
—0.50701 + 2.286191

—12.33120 4 1.024781

—6.59141 + 2.035541

—0.798281 — 0.3112661
= —0.571033 + 0.8368491
—0.50701 — 2.286191

—12.33120 — 1.024781

—6.59141 — 2.035541

0.811379 + 0.0558401
= —0.54698 + 1.549861
—0.429316 + 0.0850801

—0.52878 + 4.487821

—5.13520 — 5.732201

0.811379 — 0.0558401
—0.54698 — 1.549861
—0.429316 — 0.0850801

—0.52878 — 4.487821

—5.13520 + 5.732201

—0.461701 + 0.6125711
0.658166 — 0.5832331
—0.093739 4 0.1467701

0.081645 + 1.0286701

0.74020 — 3.829771

—0.461701 — 0.6125711
= 0.658166 + 0.5832331
= —0.093739 — 0.1467701
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0.081645 — 1.0286701

0.74020 + 3.829771




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.520817 + 0.4039571
a = —0.656947 + 0.6286731
b= —0.343599 + 0.8759311

0.07174 4+ 2.090171

—0.84653 — 3.880611

u = —0.520817 — 0.4039571
a = —0.656947 — 0.6286731
b= —0.343599 — 0.8759311

0.07174 — 2.090171

—0.84653 + 3.880611

0.541626 + 0.3520891
a = —1.57063 + 0.322191
b= —0.995588 + 0.3344861

u =

—3.54901 — 0.963701

—7.30947 4+ 1.197311

u= 0.541626 — 0.3520891
a = —1.57063 — 0.32219]
b= —0.995588 — 0.3344861

—3.54901 + 0.963701

—7.30947 — 1.197311

1.367540 + 0.1814301
a = —0.883343 — 0.4510361
b= —1.89904 — 0.400111

u =

—5.14586 — 3.445151

—3.74377 + 8.433241

u= 1.367540 — 0.1814301
a = —0.883343 + 0.4510361
b= —1.89904 + 0.400111

—5.14586 + 3.445151

—3.74377 — 8.433241

u = —0.263257 + 0.5168091
a= 10.905386 — 0.0593761
b= 0.061869 + 0.2141081

0.112234 + 1.0915701

1.51179 — 6.029701

u = —0.263257 — 0.5168091
a= 10.905386 + 0.0593761

0.112234 — 1.0915701

1.51179 + 6.029701

b= 0.061869 — 0.2141081

u = —1.46377

a=—0.611776 —3.79571 —0.350320
b= —1.74803

u = —1.55168 + 0.239531

a= 0.606082 — 0.4421331 | —10.65780 + 3.516631 | —5.96026 + 0.1

b= 2.42916 + 0.210117




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —1.55168 — 0.239531
= 0.606082 + 0.4421331
= 2.42916 —0.210111

—10.65780 — 3.516631

—5.96026 4 0.1

1.56741 + 0.238621
0.584803 — 0.0347921
= 1.91823 4 0.023081

—7.35813 — 4.597711

1.56741 — 0.238621
= 0.584803 + 0.0347921
= 1.91823 — 0.023081

—7.35813 4+ 4.597711

= —0.95012 + 1.511221
= —0.549793 — 0.4091821
= —0.633085 + 0.1873221

—14.0224 + 4.95051

= —0.95012 — 1.511221
= —0.549793 + 0.4091821

—14.0224 — 4.95051

1.79395 + 0.152881
0.565816 — 0.8033291
1.74296 — 0.325401

17.5407 — 3.25421

1.79395 — 0.152881
= 0.565816 + 0.8033291
= 1.74296 4 0.325401

17.5407 + 3.25421

= —1.79808 + 0.174631
= —0.774547 + 0.6276651
= —2.05265 + 0.433421

—17.5402 + 4.73421

= —1.79808 — 0.174631
= —0.774547 — 0.6276651
= —2.05265 — 0.433421

—17.5402 — 4.7342]

= 1.81040 + 0.472521
= 0.816894 + 0.3994551

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.633085 — 0.1873221
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= 2.24901 + 0.455571

16.7809 — 12.33511




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.81040 — 0.472521
0.816894 — 0.3994551
2.24901 — 0.455571

16.7809 + 12.33511

—2.00385 + 0.042351
0.612520 — 0.3569311
1.69886 — 0.374741

—11.89190 4 2.841711

> Q@ €|l & €| & &

= —2.00385 — 0.042351

0.612520 + 0.3569311
1.69886 + 0.374741

—11.89190 — 2.841711




IL 1Y = (—3u'” + 4u'® + - .- + 5b+ 14, —19u'" + 2u'® 4 ... 4+ 5a + 57, u'® —

9ul + ... —2u +1)
(i) Arc colorings
1
aq = O
0
ag = \u
19,17 _ 2,16 62 57
=u U + e — U — &
alz <5§U17 Zu16+_.._%5u 15]4)>
1
a5 = \ 42
9,17 _ 2,,16 12 7
U + - Fu—- =
a9 = (_5?“17 518 16_|_ S %u +5§>
—5.40 OOOu17 — 3.80000u'6 + - - - + 4.20000u + 11.2000
ag = \ —2.60000u'” — 3.20000u'¢ + - - - — 2.20000u + 3.80000
U
ag —_ u
—u? 41
a3 = _u2
( 2ul” — 3ul® 4+ —13u—6 )
= 4 28 _ 33 3
as _gu17 16 4. Hy— 2
%u” 16 16+._._?U_£
app =\ —y! 5u16 + o —6u? — 6u
%uu 156u16 +. 256u7 31
air = \ —3.20000u'” — 6.40000u'6 + - - - — 4. 40000u -+ 3.60000

—6.60000u'" — 6.20000u'¢ + - - - + 7.80000u + 15.8000
ar = \ —3.40000u'” — 5.80000u!¢ + - - - — 3.80000u + 7.20000

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u!'” + 5u!6 + 27u!® — 34u!? — 125u!3 + 95u!2 + 270u!! —
122010 — 239u° + 41u8 — 99u” + 37u’ + 384u® + 32u* — 257u® — 88u? + 25u + 15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 ul® — 120 4 — 16u+1
C2 u® —2ul" 4 —2u41

C3,Cq u®—0utt . 241
Cs W Tt 1

6 w20 2u 1
cr w'® 4+ 8ull 4+ du? + 1
s u® —9u . 2u 1
9 u® —6u'" o —2u+1
c10 u'® + 8ull 4 4w + 1
c11 ul® +16u!" + - +8u+1
Cra u'®+ 110" 4 = 2u+ 1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 Y1 20y10 4 ... 24y 41
c2, Cg Y12y o 16y + 1
C3,Ca, Cg y'® — 18y - — 20y + 1
cs Y 14y T 4 3y 1
C7,C10 y 16yt 4 8y 1
Co Y oyl 4 10y 41
c11 g — 24yt 44y 41
C12 Y+ 22y" 4 1y + 1
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.085759 + 1.0119701
= 0.071482 + 0.6599461
= —0.330517 + 0.0717241

—1.08613 — 0.968161

—6.34211 + 0.570711

= 0.085759 — 1.0119701
= 0.071482 — 0.6599461
= —0.330517 — 0.0717241

—1.08613 + 0.968161

—6.34211 — 0.570711

= —1.114560 + 0.2938207
= —0.931989 + 0.0467071
= —1.33734 — 0.900531

—8.46698 + 1.312861

—9.83068 + 0.320181

= —1.114560 — 0.2938201
= —0.931989 — 0.0467071
= —1.33734 4 0.900531

—8.46698 — 1.312861

—9.83068 — 0.320181

= 1.300570 + 0.0292731
= —0.536713 — 1.0195101
= —1.28702 — 0.601961

—2.94807 — 4.421281

—4.69559 + 5.417751

1.300570 — 0.0292731
= —0.536713 + 1.0195101
= —1.28702 + 0.601961

—2.94807 + 4.421281

—4.69559 — 5.417751

= —1.306820 + 0.0739421
0.030062 + 0.9457771
= 0.663121 + 0.2182911

—3.48940 + 1.606441

—4.34335 — 1.678051

—1.306820 — 0.0739421
0.030062 — 0.9457771
0.663121 — 0.2182911

—3.48940 — 1.606441

—4.34335 + 1.678051

1.232400 + 0.4911041
0.340655 — 0.0119131
1.05787 — 1.885521

—12.53040 — 2.230821

—8.19150 + 3.262121

1.232400 — 0.4911041
= 0.340655 + 0.0119131
= 1.05787 + 1.885521

—12.53040 + 2.230821

—8.19150 — 3.262121
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

1.329640 + 0.2385061
—1.026160 — 0.3415181
= —2.02234 — 0.393591

—5.47647 — 2.875721

—10.17496 — 1.278301

1.329640 — 0.2385061
= —1.026160 + 0.3415181
—2.02234 + 0.393591

—5.47647 4 2.875721

—10.17496 + 1.278301

—0.375312 4 0.2933841
1.52275 — 1.152991
—0.663240 — 0.6180711

—0.093430 — 0.4966991

—2.79813 + 0.048291

—0.375312 — 0.2933841
1.52275 + 1.152991
—0.663240 4 0.6180711

—0.093430 + 0.496699.1

—2.79813 — 0.048291

—1.52906 + 0.232551
0.647405 — 0.1902441
2.05285 — 0.176531

—7.41546 + 5.535341

—5.08064 — 8.152041

—1.52906 — 0.232551
0.647405 + 0.1902441
2.05285 + 0.176531

—7.41546 — 5.535341

—5.08064 + 8.152041

0.377398 + 0.0439831
—1.11749 + 2.909371
—0.133373 + 0.7247831

0.38303 + 4.117601

1.95695 — 4.695831

0.377398 — 0.0439831
—1.11749 — 2.909371
—0.133373 — 0.7247831

U
a
b
U
a
b
]
a
b
U
a
b
]
a
b
]
a
b
U
a
b
U
a
b

0.38303 — 4.117601

1.95695 + 4.695831
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

C1 (u'® — 1207 4 - — 16u 4+ 1)(u®® + 31632 + -+ — 108u — 1)
C2 (u'® — 20" - = 2u 4+ 1) (u® =3P 4+ 10u+ 1)

3,4 (u'® —9u'® + - —2u+ 1)(u®® —u®? + - — 106u + 173)
cs (u'® +7ut + w4 1)+ 0P+ 722710 + 18731)
€6 (u'® + 20" + -+ 2u+ 1) (1 = 3u® + -+ 10u+ 1)
cr (u'® +8u' + - 4u? + 1)(u + P + -+ 698u + 391)
c8 (u'® —9u'® - 4 2u 4 1)(u — w3 + .- — 106u + 173)
€9 (u® —6ul” - —2u 4 1)(u = 5uP? 4 - 28u — 11)
10 (u'® + 8ul® + -+ 4u? + 1)(u® + u? 4 -+ + 698u + 391)
c11 (u'® 4+ 16u'" + -+ + 8u + 1) (u®* + 55u3? + - - — 781200u — 152881)
c12 (u'® 4+ 11w 4 = 2u + 1) (u®® — w2 4 - — 428u + 187)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (y'® —20y"0 + - — 24y + 1) (>3 — 45y%2 + .- — 3432y — 1)
Ca, Co (Y + 1297 + - F 16y + 1) (> + 319°2 + - — 108y — 1)
€3, ¢4, C8 (y'® — 18y + - — 20y + 1) (y*3 — 43y3% + - - - 4 292880y — 29929)
cs (y"® + 14y +--- =3y + 1)
(% + Ty 4 - — 6878739425y — 350850361)
7, C10 (y'® + 16" + -+ 8y + 1)(y* + 55y>% 4 - - - — 781200y — 152881)
Co (4291 4 =10y + 1)(y> — 732 + - — T8y — 121)
- (y"® —24y'" + -+ 4y + 1)
(y3% — 14992 + - - - — 105634649180y — 23372600161)
c12 (y"® + 22" + -+ 14y + 1) (v + 579> + - — 214378y — 34969)
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